Kvanums BK

Barometer 2019-05-08

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poéng % Namn MID Klubb
1 13 248 64.58  Soren Lennartsson - Morgan Carlman 9338 32484 Falkopings BS - Levene BK
2 16 245 63.80 Thomas Johansson - Mark Strandell 18680 18681 Vargarda BS
3 14 223 58.07 Bengt Lindblom - Bo Fransson 19041 9339  Skovde BA - Levene BK
4 9 216 56.25  Sven-Olof Johansson - Hans Lundgren 57420 26601 Kvanums BK
5 6 213 55.47  Ake Dalemo - Curt Sj6lin 3764 15066 Levene BK - Lidkdpings BK
6 4 211 54.95 Jonas Karlsson - Mikael Karlsson 27018 35817 Kvanums BK
7 8 210 54.69 Leif Nilsson - Eva Nilsson 63674 63673 SkaraBS
8 15 202 52.60 Jussi Barzén - Mikael Nyberg 14776 7628 Levene BK
9 10 199 51.82 Sven-Goran Lennartsson - Goran Andersson 12534 11026 Herrljunga BK
10 18 193 50.26  Karin Lundgren - Goéran Lundgren 57418 57417 Kvanums BK
11 7 192 50.00 Gunder Persson - Lars-Erik Sjoman-Kuhnel 7640 9991  Skovde BA - Grastorps BS
12 17 186 48.44  Lennart Krook - Hans Andersson 27250 26475 Kvanums BK - Levene BK
13 3 185 48.18 Karl-Johan Melin - Tore Ljunggren 46235 40150 Kvanums BK - Levene BK
14 5 169 44.01 Hans Ahlberg - Egon Fahlgren 43471 7680 Kvéanums BK - Levene BK
15 11 167 43.49 Lennart Bergstrom - Maj Arvidsson 93414 88544 Herrljunga BK
16 1 155 40.36  Hakan Johansson - Carl-Eric Gustavsson 49164 49165 Kvéanums BK
17 12 131 34.11 Clas-Hakan Winroth - Uno Ljungstrom 26447 36358 Skara BS
18 2 111 28.91 Bodil Hglund - Yngve Hoglund 62098 62099 Skara BS
1 + D86 Basta kontrakt 2 496 Basta kontrakt 3 4 Kn962 Basta kontrakt
Nord v KKn1072 44 O =-130 Ost v Kn75432 3NT O =-400 Syd v 97 3v V =-140
Ingen 492 NS *2 ov ¢ E7
#943 & ¢ v & NT #KKn96 & ¢ v & NT #KKn1085 & ¢ v & NT
4 EK954 &- N353765 4« EK8 4 D752 N4 3844 4 K3 4 ED54 N7 34605
v4a v ED9865 S25375 vD9 vK6 S 43844 vKKn652 vD8 S73465
¢ Knl108 ¢ 754 O 106 8 6 8 ¢ KKn63 ¢ E987 O 9 105 9 9 ¢ K1032 ¢ Kn654 O6 109 7 7
#KKn62 #E1075 V 106 8 6 8 #10732 &E84 vV 9 105 9 9 *32 *E74 vV 6 109 7 7
4 Kn10732 4 Kn1043 41087
v3 vE108 vE1043
+ EKD63 + D1054 + D98
«D8 «D5 «D96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
8 11 4v O-3 K 150 16.0 00|18 1 5¢ O-4 YA 200 00| 9 12 3NV-3 5 300 16.0 0.0
13 6 3v0-2 +¢K 100 13.0 3.0(17 2 3¢ O-2 43 100 20|11 10 3NO-2 +3 200 13.0 3.0
18 1 3NO-2 +A 100 13.0 30| 8 11 INV+1l +v4 -120 5013 8 3NV-2 8 200 13.0 3.0
4 15 3NV-1 +Q 50 90 70(10 9 2NV= v2 -120 50 1 3 2¢ O+1 &6 -110 7.0 90
17 2 3v0-1 +A 50 90 70| 3 16 3NO= *4 -400 120 4 17 3¢ O= *Q -110 7.0 9.0
10 9 INN-1 *5 -50 6.0 100| 4 15 3NO= 43 -400 120|15 6 2¢ V+1 v9 -110 70 90
3 16 440-= +K -130 40 120(12 7 3NO= +4 -400 12.0(18 2 2¢ O+1 %6 -110 7.0 90
14 5 2¢vDO= +¢K -470 20 140|13 6 3NO= s] -400 12.0|14 7 3¢ V+1 #J -130 2.0 14.0
12 7 34DS-3 v4 -500 0.0 160(14 5 3NO= 5 -400 120 5 16 2v V+1 +A -140 0.0 16.0
4 & K1093 Bésta kontrakt 5 & K1032 Bésta kontrakt 6 4109 Bésta kontrakt
Vast v EKn7 ANT N =630 Nord v K1064 2¢ O =-90 Ost v EKD108 4v S =420
Alla ¢ E5 NS ¢ 62 ov + D10
#EK92 & ¢ v & NT #E92 & ¢ v & NT #K1093 & ¢ v & NT
4Kn862 4E74 N 10109 9 10 4E9765 4D N4 4666 4 K75 4 Kn84 N 7 5 109 9
v8643 v D105 S 10109 9 9 vE832 D9 S 4566 6 vKn v 7542 S 7 5 109 9
¢ K87 ¢+ D62 033443 +97 ¢EKn1053 O 8 8 7 7 7 ¢ EKN76 49853 06 7 3 43
#Kn8 #10753 V33443 «D3 #K10864 v8sg8777 #EKn542 D7 V67343
4 D5 4 Kn84 4 ED632
v K92 v Kn75 v 963
+ Kn10943 + KD84 + K42
«D64 «Kn75 »86
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
18 2 3NN+2 &4 660 16.0 00| 6 17 3NV-2 +4 100 . 10(14 9 2v N+3 ¢38 200 150 1.0
13 8 3NS+1 +8 630 13.0 3.0(18 3 3NV-2 v6 100 . 10|16 7 2y N+3 #Q 200 150 1.0
14 7 3NN+1 &3 630 130 30| 2 4 3NO-1 8 50 80 80| 6 17 2v N+2 &#Q 170 11.0 5.0
4 17 3NN= &T 600 80 80| 5 1 2NO-1 ¥5 50 80 80(10 13 2v N+2 #Q 170 11.0 5.0
9 12 3NN= *3 600 8.0 80(10 13 3¢ O-1 48 50 8.0 8012 11 INN+2 7 150 8.0 80
15 6 3NS= v6 600 80 8015 8 2NO-1 v7 50 80 80| 5 1 2vS+1 &7 140 5.0 110
1 3 3NN-1 +6 -100 20 140(16 7 2NO-1 v5 50 80 80(18 3 3vN= *Q 140 5.0 11.0
5 16 3NS-1 46 -100 20 14012 11 2NV= +6 -120 1.0 15015 8 2v N= *Q 110 2.0 140
11 10 3NN-1 #5 -100 20 140(14 9 2NV= 9 -120 10 150| 2 4 4v N-1 #Q -50 0.0 16.0
7 4« Kn9 Bésta kontrakt 8 & EKn43 Bésta kontrakt 9 & Kn862 Bésta kontrakt
Syd v EK1083 34 S =110 Vast v7 7NT N =1520 Nord v Kn654 4¢ ND-1-100
Alla + 8643 Ingen + EK6 ov ¢ Kn43
«D2 & ¢ v & NT #EKn1032 L) v & NT *K7 & ¢ v & NT
442 4 D1073 N9 5785 4 D76 4952 N 13109 1313 4 E7543 4 KD109 N59 6 47
vKn75 v 642 S95785 v92 vKD10643 S 13109 1313 v1082 vKD3 S596 45
+ KDKn109 ¢ E72 048546 ¢ Kn10982 ¢ 743 o0 400 + 86 +D5 O7 46 96
#KKn4 »E76 V 48546 #954 &D vV 0 400 #543 #ED108 V74696
» EK865 4 K108 a-
vD9 v EKn85 vE97
+5 + D5 + EK10972
109853 »K876 #Kn962
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 1 3eV-2 s] 200 16.0 00| 6 2 3NS+4 ¢J 520 20| 7 3 44DO-3 ¢+A 800 16.0 0.0
6 2 24 S= ¢A 110 140 20|13 12 3NS+4 v9 520 20(14 13 44 O-2 +¢K 200 13.0 3.0
15 10 2¢ V-1 a] 100 11.0 50|15 10 3NS+4 v9 520 20[17 10 44 O-2 +A 200 13.0 3.0
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16 9 3¢ V-1 &) 100 11.0 50| 3 5 44 N+3 #Q 510 100 6.0 8 2 2¢ S+2 45 130 90 7.0
3 5 Pass 50 11.0(11 14 3NS+3 T 490 7.0 9.0(12 15 34 S+1 &5 130 90 7.0
13 12 Pass 50 11.0(16 9 3NN+3 ¢K 490 70 90|16 11 2¢ S+1 8 110 6.0 10.0
17 8 Pass 50 11.0( 7 1 3NN+2 ¢K 460 40 120( 4 6 4¢ S-2 4A -100 4.0 120
18 4 Pass 50 11.0(18 4 44 N+1 #Q 450 20 1401 1 9 340-= ¢ A -140 1.0 15.0
11 14 2¢ V= aJ -90 00 16017 8 5#N+2 vK 440 0.0 16.0(18 5 24 O+1 ¢K -140 1.0 15.0
10 & EK97 Basta kontrakt 11 4 ED2 Basta kontrakt 12 4 DKn65 Basta kontrakt
Ost v98 24 S =110 Syd v D963 3v S =140 Vast v875 34 V =-140
Alla ¢ D82 Ingen ¢ K1094 NS * K2
*D752 & ¢ v & NT #54 & ¢ v & NT #9842 & ¢ v & NT
«D3 » 864 N7 6587 # K843 4 Kn6 N569 77 «E932 «10874 N4 4844
vKnl1073 vEK54 S76587 v52 v Kn104 S56 977 v9 v DKn6 S44844
¢ Kn1064 ¢ ES53 057756 ¢E3 ¢ DKn652 087 456 ¢ Kn105 ¢ E974 098598
#E63 #K108 V57756 #EK1086 #D32 V87456 #EDKN106 %75 V984938
4 Kn1052 410975 &K
v D62 v EK87 v EK10432
¢ K97 +87 + D863
#Kn94 #Kn97 *K3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 2 3v0-2 a2 200 160 00|13 16 3v N= I 140 160 00| 1 11 34V-1 v5 50 13.0 3.0
1 9 INV-1 &2 100 130 30| 1 11 INO= vA -90 70 90|13 16 24 O-1 vA 50 13.0 3.0
16 11 2v O-1 &) 100 130 30| 2 10 INO= v8 -90 70 90|15 14 44 O0-1 vA 50 13.0 3.0
18 5 34 N-1 ©vA -100 100 6.0| 5 7 INO= vA -90 70 9017 12 34 V-1 v8 50 13.0 3.0
4 6 2vV= 4 A -110 70 90| 8 4 INO= vK -90 70 90| 2 10 24 V= vi7 -110 6.0 10.0
17 10 2v O= a2 -110 70 90| 9 3 2s4V= v6 -90 70 90| 8 4 3sV= v8 -110 6.0 10.0
7 3 2v0+1 4] -140 20 14015 14 INO= vA -90 70 90| 9 3 2e4V= v8 -110 6.0 10.0
12 15 2v O+1 &5 -140 20 14017 12 24V = v3 -90 70 90|18 6 34 V= v8 -140 2.0 140
14 13 2v O+1 T -140 20 140(18 6 2#V= v6 -90 70 90| 5 7 340+1 ©vA -170 0.0 16.0
13 4764 Bésta kontrakt 14 4 K9 Bésta kontrakt 15 4 KD753 Bésta kontrakt
Nord v9 3¢ N =110 Ost v K10976 24 S =110 Syd v D102 5& V =-400
Alla + D10954 Ingen + D76 NS + 1098
#K1074 & ¢ v & NT #E42 & ¢ v & NT »64 & ¢ v o NT
4Knl103 «KD985 N596 46 4E73 «D64 N6 88 86 4EKN109 &2 N135765
vKn64  vE853 S596 46 v842 vED3 S6 8886 v 875 v Kn4 S$13575
¢E3 ¢ 72 074587 ¢ K92  +Knl03 075556 ¢+ 73 ¢ EKKn65 O 11106 6 8
#ED962 #Kn5 V73587 #K863 #10975 V75556 #ED92 #KKn875 V 11106 6 8
aE2 # Kn10852 « 864
vKD1072 v Kn5 v EK963
¢ KKn86 ¢ E854 ¢ D42
»83 #DKn %103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 17 3¢ N+1 #J 130 160 00| 6 8 INN= &T 90 150 10|11 5 320+1 YA -130 16.0 0.0
3 11 2¢ S+1 & 110 130 3.0|14 17 INN= *5 90 150 10| 4 12 34 0+2 YA -150 100 6.0
16 15 3¢ S= aJ 110 130 3.0| 1 13 INN-1 &T -50 90 70|10 6 3+0+2 ©vA -150 10.0 6.0
2 12 34 0-1  v2 100 100 6.0 9 5 INN-1 J -50 90 7015 1 3#V+2 2 -150 10.0 6.0
9 5 3¢ N-1 4] -100 80 80(10 4 INN-1 &5 -50 90 70|17 16 3+ 0+2 vA -150 100 6.0
113 24 O+1 K -140 50 110(16 15 24 S-1 v8 -50 90 70|18 8 3#0+2 v¥K -150 10.0 6.0
18 7 24 O+1 48 -140 50 110 2 12 INN-2 &T -100 20 140 7 9 2vS-2 7 -200 4.0 120
6 8 340+1 vK -170 10 15.0| 3 11 3NN-2 &T -100 20 140 2 14 54V +1 T -420 2.0 140
10 4 24 0O+2 v¥K -170 10 150|18 7 INS-2 &3 -100 20 140| 3 13 6+V= oT -920 0.0 16.0
16 4 Kn108653 Bésta kontrakt 17 & K2 Bésta kontrakt 18 s K Bésta kontrakt
Vast v D93 34 N =140 Nord vD1083 3v N =140 Ost v 109652 6¢ OD-51100
ov + K3 Ingen + D106 NS ¢ E4
*62 & ¢ v & NT #ED97 & ¢ v & NT #106432 & ¢ v o NT
a4 « KD92 N9 6798 « E95 « D643 N6 6 967 52 «Kn10987 N 125 108 10
v EKn10 v 6542 S$96798 vEKn72 v5 S66967 v D84 vE73 S 125 108 10
¢ Kn1098742 ¢ D5 0476 44 ¢ Kn9 ¢ E8542 067475 ¢ KD109863 +¢ 75 017243
*K7 #Kn94 V37644 #K1065 #Kn32 V77476%6 *5 #DKn7 V17243
«E7 4 Kn1087 « ED643
v K87 v K964 v KKn
¢+ E6 ¢ K73 ¢ Kn2
#ED10853 »84 »EK98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 6 3NN= v6 400 160 00| 3 15 2NV-3 v3 150 160 00|16 2 5¢DV-5 «K 1100 16.0 0.0
3 13 3#S+1 ¢ 130 130 30| 1 17 2v S= +J 110 13.0 30| 4 14 3NN= T 600 140 20
4 12 3#S+1  +J 130 130 30|16 2 2v N= v5 110 130 30|12 6 3#S+1 +K 130 120 4.0
18 8 3#S= ¢J 110 100 6.0| 5 13 2vS-1 +J -50 6.0 100| 3 15 4¢ V-2 K 100 80 8.0
17 16 3#S-1 ¢ -50 80 80| 8 10 INN-1 ¢2 -50 6.0 10.0(11 7 4e V-2 &K 100 8.0 80
11 5 34 N-2 +¢Q -100 50 11011 7 2v N-1 A -50 6.0 100|18 9 2¢ V-2 oK 100 80 8.0
15 1 44 N-2 5 -100 50 11012 6 2vS-1 ] -50 6.0 100| 8 10 3¢ V-1 K 50 4.0 120
2 14 3¢ V= *6 -110 20 140(18 9 INS-1 v2 -50 6.0 100 1 17 34 S-2 &5 -200 1.0 15.0
7 9 3NS-4 ¢ -200 00 160 4 14 2NV= v3 -120 00 160| 5 13 34DS-1 &5 -200 1.0 15.0
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19 & Kn1095
Syd v 84
oV + EKKn8
#1097
LY:] « EK2
vKnl092 vEK76
¢ 942 4103
&#KKn832 #D654
& D7643
v D53
+ D765
&E
Par Kontr Ut
9 11 24 S+1 v
13 7 34 S= vlJ

18 10 24 S+1 %2
6 14 4y O-1 4
17 3 INO= a4
416 INO+1 a7
2 1 INO+2 a7
515 INO+3 44
12 8 INO+3 a4

Basta kontrakt

oo oMM
ooooooooo

20 «ED10

Vast v EKn543
Alla + KD94

&3
& KKn87 4953
vKD2 v 1097
¢ Kn3 ¢ E76
&#E642  #K975
& 642
v 86
+ 10852
&#DKn108
Par Kontr Ut
9 11 INO-3 v8
17 3 3aV-3 +K
2 1 3sV-2 v5
13 7 24 O-2 +K

Basta kontrakt

oANOOGGIE P
cooooooooo

22 # KKn95
Ost v Kn107
oV + Kn8643
*8
« ED6 » 102
v K6 vE54
+ EK1075 ¢ D92
*964 +KD1075
#8743
v D9832
¢4 -
#EKn32
Par Kontr Ut

3 2 3NV-1  vJ
10 12 3NO-1  v2
14 8 26 V+1 T

13 9 4¢ O= 48
5 17 3NV= +3
6 16 3NO= v3
7 15 3NV= +3
18 11 3NV= +8
1 4 3NV+1 3

34 S =140
LI A
N4 849
S 48409
09 48 4
V9 484
Res Poang
140 14.0
140 14.0
140 14.0
100 10.0
-90 8.0
-120 6.0 1
-150 40 1
-180 10 1
-180 10 1
Basta kontrakt
4v S D -3-500
& 0 Ve
N4 477
S 4477
09 96 6
V9 96 6
Res Poang
100 15.0
100 15.0
-110  12.0
-130  10.0
-600 50 1
-600 50 1
-600 50 1
-600 50 1
-630 00 1

oRrPrPPROARE
ooooooooo

5 15 3¢ N= &7
12 8 2vy N= 49
18 10 2& V-1 vA

6 14 1v N= v9

4 16 3v N-2 43
23 & Kn964
Syd v D75
Alla + 8765

&K6
D532 & E107
v10984 vK6

+ K3 ¢ EKn9
#DKn9 &E8752
& K8
v EKn32
+ D1042
#1043

Par Kontr Ut

14 10 2¢ N=  #A
2 5 2NO+1 3

7 17 3NO= v2
8 16 3NV= v2
15 9 3NO= &T

2NT N =120
LI A
N7 987
S7987
06 345
V6355
Res Poang
300 15.0
300 15.0
200 11.0
200 11.0
110 7.0
110 7.0
100 40 1
80 20 1
-200 00 1
Basta kontrakt
4ANT O =-630
CICR 'S
N3 654
S3654
O 107 8 9
vV 106 8 9
Res Poang
90 16.0
-150 10.0
-150 10.0
-150 10.0
-150 10.0
-150 10.0
-600 20 1
-600 20 1
-600 20 1

AAhhooooooO
cooooooooo

21 & EK64 Bésta kontrakt
Nord v D93 6NT N = 1440
NS + K4
#EK32 & ¢ v & NT
43 « D7 N 126 6 1212
v 765 vEKn10842 S 126 6 1212
¢+ D108653 4972 016611
D54 *76 V16611
# Kn109852
vK
4+ EKn
#Kn1098
Par Kontr ut Res Poang
5 17 64 S= +6 1430 150 1.0
13 9 64 N= vA 1430 150 1.0
1 4 464 S+2 v7 680 70 9.0
6 16 44 S+2 v5 680 7.0 9.0
7 15 44 N+2 &7 680 7.0 9.0
10 12 44 N+2 &7 680 70 9.0
14 8 44 S+2 7 680 7.0 9.0
18 11 44 S+2 @7 680 7.0 9.0
3 2 64S-1 v7 -100 0.0 16.0
24 4 ED3 Bésta kontrakt
Vast v DKn10985 74 N =1510
Ingen ¢-
£10942 & ¢ v & NT
4764 4 Kn82 N 1111121312
v7432 vK6 S 1111121312
410982 ¢ D763 012101
#63 #DKn75 V12101
& K1095
vE
+ EKKn54
#EK8
Par Kontr Ut Res Poang
6 1 6NS= v2 990 13.0 3.0
8 16 6NS= *T 990 13.0 3.0
15 9 6NS= *T 990 13.0 3.0
18 12 6NS= *T 990 13.0 3.0
7 17 6v N= *5 980 7.0 9.0
11 13 6v N= »5 980 70 9.0
4 3 3NS+3 T 490 4.0 12.0
14 10 4v N+2 48 480 2.0 14.0
2 5 3NS+2 T 460 0.0 16.0
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